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Scction-l
\}ritr nt lcasl St.X (6) short ansn,ers ofthe followitrg questiotrs:r. (lon\e 5llNlll into bvtes 6r2=12

U-hxt du \,ou rncant b) dieilal con\crgence?
\,! nat 

'\ Appljcalj(ln Soflwaren
I)r-'fine Sl)1.C.
llon')ou diffcr intranet liom crranet,l
Whal is meant by (_'Sl\4A,,CS,.)

Whal is neanr by WAN?
I)clino Bandwidth.
\\'ha1 do ) ou kno\i aboul parallcl transmission?

6r2=12

Whl' LAM is catled volarilc?
Describc Control Bus.
What is meanr b), lR?
How computer can bc used in M?trketing.f
ExplaiIr the conccpl. of E-Commcrce.
What is Electronic Shopping?
Writc any two causcs ofsccurity violation?
llort docs Boot Scctor Virus work'l

Write at ieast SIX (6) 3hort answers ol'the followiDg questions: 6 Jr 2 = '12

i. Dcscribe Command Linc Opcrating System.
ii. What is meaot by l)cskop'l
iii. DcscribeMultiproccssing.
i'" Whrl is a l cxt llditor?
\. What is meant by Full-l'eatulcd Word Processors?
t,;. Whal is meant by l hesaunrs?
\'ii. Convcfl the absolutc cell rcfcrencc ibrmula'-$A$l .$B$5 into rclative cell refercnce.

liri l)ctinc Labcl.
ix. Ilow to rvorksheet links with each other?

Section-II

"role: Attcmpt atry THREE questions.

i. What is non-lmpact Prin(cr? Explain different types of non-impact Printer'

Li. l)ctinc Ncr\lork l'rolocol' l)cscribe diffcrcnt L N protocols'

i. \^'hat is dnlrr connrlLLnication? llricfl-v dcscribe basic components ofDau Co'nmunication

E, \\hii', is mcurt bJ KONII Describt its ilitlirent qpcs

\\ rilc at least SIX (6) short aDswcrs of lhe following qucstions:
i. \\rire do\\n thc lintclion 01 ,\l.L.

1)))
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$. \r,rp\'ain drticrent causes o{ virus

Class: Ilrter I,ara - I
'Iime Allowed i 2i10 hours
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I Notc: Wrilc answers to thc questions otr the objectiye arswer shcet provided. Four possible
xns$'crs A, ll, C Ind D to each questiolr arc givcn. Which answer you consider correct, fill the circle
in front ol A, B, C or D with Ntarllllol let! !q\l!q each queslion on the ilrsffgtqleellrllid!4.

I Which ol the lbllo\\ins is an cxample of S).stem Sotiware?

(A) MS. Word (B) Personal Oracle (C) MS. Po&rr Point (D) MS. Windous

IJI I stands for:

(A) tlinary I rcc (B)Ilinary l)igit (C) Binary lnteger (D) Ilinary lntonal

llxch conrpuler on il nctwork is callcd 3:

(A) llLLs (ll) Ternrinalor (C) Node (l)) CoDneclion

Which ol the lbllouing layers nvrnages coding schcmes during dala transnrission?

(:\) ApplioalioD (ll) Prescltation ((')Tr.nsport (D) l'h) sical

lhc clcctr omrgnctic or lighl *ar es rcprcsenling datu arc called:

t,\l Lll'ormalion (U) Sicnil (C) Sender

Digilal signals are commonly called:

(A) llroadband (B) Baseband

Iland

(D) I requency

(C) Narrowband (I)) F'rcquene)

t-lcctronic banking is also called:

(A) ( ybcr banking (ts) Office baaking (C) Interactive banking

llo,v many types oflanguage translators arc there

(.{) l (B) 2 (c) 3

(D)a;l.rbal bar ins

S

(D) .1

I
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l2
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ll

tr'hich register conlains the hasc location ofthe culrent program stack

(B) Ds (c) ss (D)CS

A. sccrel codc consisting ofwords. numbcrs or combination olboth is called

(A) Biometrics (B) Signature (C) Password (D) Security

I hc object ol Windows opcrating system used to pcrform system management tasks is:

(1\)l)esklop (ll) My Computcr (C) Conlrol l'anel (D) Wirdo$s Explorer

-lhe 
abiliry ol an operating systcm to control tlle activities ofmuhiple programs at the same time is

called:

(A) Multilasking (R) Muttiprocessing (C) Multi operating (D) Multi paging

U'hich lcature of Word processor allows 
"vou 

to insert text from one lile into another filc'l

(^) N'lacro (ts) thcsaurus (C) Merge (D) Footnote

Calling a cell in MS. txcel by just their addresses (like A1. 83) is called:

(A) Namcd Ranges (B) Labeling (C) Relative rel'erencing (D) Absolute referencing
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